



Date: 02/06/2017

Page 1 of 4

Ship To	:	Bill To:							
•	DF INFORMATION TECHNOLOGY	DEPT OF INFORMATION TECHNOLOGY	ATION Billing Contact: JENNIFER PEREZ						
1010 2N	1010 2ND AVE SUITE 500 ATTN - ACCOUNTS PAYABLE				Telephone:				
SAN DI		1010 2ND AVE SUITE 500 SAN DIEGO CA 92101			E-Mail:jenr	niferp@sa	ndiego.go	V	
Vendo	r: Atos IT Solutions And Service	s Inc		Terms:	days Due r	oot			
	Atos AMO Office 5975 Santa Fe Street			Delivery		iet			
	San Diego CA 92109-1623		_	FOB FO	3 Destinatio	n			
				Buyer:		nah Shoai			
Vendor	ID: 10026965 Telephone: 281-340-30	01 E-Mail: lisa_campbell@atos.net		Telephone: 619-236-6190					
, ender				E-Mail:	SShoa	f@sandie	go.gov		
Line #	Item ID/Description	Del.Date	Quantity	y/UM	Unit	Price	Extend	led Price	
1	770000470 - Atos, Project management Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017		16 EA	USD	68.00	USD	1,088.00	
	CERTIFICATES OF INSURANCE AND BUSIN REQUIRED	ESS TAX LICENSE TO BE UPDATED AS							
	 Phase 3; Per site surveys and Siemens provide equipment, and materials to: *Install molding, b and 18-2 power PTZ power cabling as required furnished and installed cameras. *Install a 12 M in 2nd floor tray between 2nd security cabinet r IDF, Provide fiber patch cords. *Provision 2 MM Plaza Hall 01.1 IDF, provide patch cords. Came [CAB 1-20-A] Exterior Plaza - Brown Doors [CA 4K on Circle [CAB 2-22-B] Exterior PTZ - On Sc West, CAB 1-24-A] C Street East, [CAB 1-26-A] in 2nd floor tray between 2nd security cabinet r [CAB 1-26-A] and St. View North, [CAB_1-27-E payment machine,[CAB_1-28-E] Plaza level AT [CAB_2-29-E] Parking Structure Stair 1, [CAB_2-29-E] Parking Structure Ramp Parking Structure Ramp View 2, [CAB_2-31-E] Plaza overlook PTZ, [CAB_2-33-E] [CAB_2-34-E] Plaza overlook PTZ, [CAB_2-37-Add Print shop, roll up door. Notes: Described v done during normal working hours with the follo level payment machine and ATM, Parking Structure Council Parking cameras will feed from the Plaz lobby, adding 1 cables to CAB-20-1-A and 4 ca and 26. Between 6:00 PM and 6:00AM or week office ceiling will need containment and floor pla 02.1. Need review with ESD. *Golden Hall, 02-21B, 2nd floor terrace, need access to ceiling hatch, need to review with ESD. *Golden Hall, 02-21B, 2nd floor terrace, need ceiling access th hatch, need to review with ESD. *Golden Hall, 02-21B, 2nd floor terrace, need ceiling access th hatch, need to review with ESD. *Golden Hall, 02-21B, 2nd floor terrace, need ceiling access th hatch, need to review with ESD. *Golden Hall, 02-21B, 2nd floor terrace, need ceiling access th hatch, need to review with ESD. *Golden Hall, 02-21B, 2nd floor terrace, need ceiling access th hatch, need to review with ESD. *Golden Hall, 02-21B, 2nd floor terrace, need sectoroics. Pricing a work will be performed during normal business LABOR: Project management Contact: Rick Bollinger, 619-533-4783; RBolling Shawn Killpack, 619-533-3059; SKillpack 	ack boxes, Cat6 cable, for the 19 phase 3, Siemens M-OM3 fiber optic cable born and the 3rd floor I fibers from CAB 0.1 to era Numbers and Locations: B 2-21-B] Exterior Plaza - bouth Cor. [CAB 1-23-A] C St C St. Mayor's car,] Plaza level parking M/Golden Hall South, 2-30-E] Parking Structure View 1, [CAB_2-32-E] Parking Structure PTZ, E] City Council Parking 1, [C E] City Council Parking 3, vork is proposed to be wing exceptions: Plaza cture, Plaza overlook, and ta Hall .1.1 IDF *CAB bles for CAB 1-23, 24, 25, end. *CAB 2nd, Security tates lifted to IDF Iden Hall, camera CAB through exterior cameras CAB 2-20B and CAB rough 2nd floor exterior ind Caveats: Pricing assumes eded. Pricing assumes that ssumes that all hours.							
Notos: Ti	lotes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/				SEE LAST PAGE				
NOLES. II		radi ale avaliable at http://dahalogo.gov		•	SE	ELA	ST P	AGE	
Notes. II		DRTANT!		-	-	E LA FOR	-	-	





Date: 02/06/2017

Page 2 of 4

ne#	Item ID/Description	Del.Date	Quantity/UM	Un	it Price	Extended Price	
2	770000470 - Atos, Working Foreman Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	132 EA	USD	68.00	USD	8,976.0
	LABOR: Working Foreman, coring, conduit and cabling						
3	770000470 - Atos, Aux Service Tech Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	132 EA	USD	55.00	USD	7,260.0
	LABOR: Aux service tech, coring, conduit and cabling						
4	770000470 - Atos, Working Forman Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	16 EA	USD	90.75	USD	1,452.0
	LABOR: Working forman prem time			_			
5	770000470 - Atos, Aux Service Tech Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	16 EA	USD	82.50	USD	1,320.0
	LABOR: Aux service tech, prem time						
6	770000470 - Atos, Fiber Tech Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	16 EA	USD	74.00	USD	1,184.0
	LABOR: Fiber Tech, terminate, test, and install patch cord	S					
7	Atos, 45-Articulated Lift Rental Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	1 EA	USD	3,161.54	USD	3,161.5
	LABOR: 45- articulated Lift rental, monthly rate						
8	Atos, Lift Delivery or Pick Up Trip Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	2 EA	USD	150.00	USD	300.0
	LABOR: Lift delivery or pick up trip						
9	770000471 - Atos, Cat6 OSP Cable Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	6 EA	USD	747.87	USD	4,487.2
	MATERIAL: Cat6 OSP cable						
10	770000471 - Atos, Cat6 Riser Cable Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	3 EA	USD	279.87	USD	839.6
	MATERIAL: cat6 riser cable						
<u>11</u> tes: ⊺h	he Terms and Conditions of this Purchase Order are a	vailable at http://sandiego	.gov/purchasing/				
		1		S			
	IMPORTANT e prompt payments, PO # must appear on all s o Billing Contact person at Bill-To address listed				FOR	IUT	AL





Date: 02/06/2017

Page 3 of 4

Line #	Item ID/Description	Del.Date	Quantity/UM	Unit Price		Exter	ded Price
	770000471 - Atos, EMT Conduit & Fittings Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	650 EA	USD	4.14	USD	2,691.00
	MATERIAL: EMT conduit and fittings						
12	770000471 - Atos, LD-10 Panduit Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	70 EA	USD	8.54	USD	597.80
	MATERIAL: LD-10 panduit						
13	770000471 - Atos, Back Boxes Atos - Quote No. 20161296-3 CAB Security Camera Wiring MATERIAL: Back Boxes	02/23/2017	19 EA	USD 2	1.37	USD	406.03
14	770000471 - Atos, NEMA 3R J-box or Equal Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	3 EA	USD 13	6.76	USD	410.28
	MATERIAL: NEMA 3R J-box or equal						
15	770000471 - Atos, FREEDM One Tight-Buffered Cable Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	250 EA	USD	3.48	USD	870.00
	MATERIAL: FREEDM® One Tight-Buffered Cable Riser 12 F 5	0 μm					
16	770000471 - Atos, Closet Connector & Splice Housing Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	2 EA	USD 18	2.33	USD	364.66
	MATERIAL: Closet Connector and Splice Housing (CCS) holds	2 CCH					
17	770000471 - Atos, Optional Jumper Shelf/Label Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	2 EA	USD 5	9.51	USD	119.02
	MATERIAL: Optional jumper shelf/label panel for CCS-01U						
18	770000471 - Atos, Closet Connector Housing Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	2 EA	USD 13	1.63	USD	263.26
	MATERIAL: Closet Connector and Splice Housing (CCS) holds	2 CCH					
19	770000471 - Atos, UniCam High-Performance Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	1 EA	USD 56	0.84	USD	560.84
	MATERIAL: UniCam® High-Performance Connector LC organiz	zer					
20	770000471 - Atos, MM-OM3 Duplex LC-LC	02/23/2017	1 EA	USD 3	3.88	USD	33.88
Notes: ⊺	he Terms and Conditions of this Purchase Order are availa	ble at http://sandiego	.gov/purchasing/	000		о т	
	IMPORTANT!			_			
To ensur directed t	e prompt payments, PO # must appear on all shipm to <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo	nents and invoices;	all invoices must be		ĸ	τοτ	AL





Date: 02/06/2017

Page 4 of 4

	ER VIGUE						
Line #	Item ID/Description	Del.Date	Quantity/UM	Unit Pric	e	Exten	ded Price
	Atos - Quote No. 20161296-3 CAB Security Camera Wiring						
	MATERIAL: MM-OM3 Duplex ST-LC x 1M Patch Cord						
21	770000471 - Atos, MM-OM3 Duplex LC-LC Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	1 EA	USD	45.51	USD	45.5
	MATERIAL: MM-OM3 Duplex LC-LC x 1M patch cord						
22	770000471 - Atos, 62.5 MM Duplex Patch Cord Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	1 EA	USD	36.14	USD	36.7
	MATERIAL: 62.5 MM duplex patch cord. ST-LC x 50ft						
23	770000471 - Atos, Misc and Spendables Atos - Quote No. 20161296-3 CAB Security Camera Wiring	02/23/2017	1 EA	USD	555.56	USD	555.8
	MATERIAL: Misc and spendables						
otes: TI	he Terms and Conditions of this Purchase Order are avai	lable at http://sandiego	.gov/purchasing/	Line Item	Total S	6	37,022.
	IMPORTANT!			Tax	9	6	0.
	e prompt payments, PO # must appear on all ship to <i>Billing</i> Contact person at <i>Bill-To</i> address listed at			1			